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IRREGULAR PAST PARTICIPLE VERB

Choose the correct past participle to complete the sentences.
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1. He has

3. They have
Y. She had
The cat has

He has

They had
She has

10. The tree was

12. They have

14. He had

15. She has

2. The package was

5
6
7. The cake was
8
9

1. The thief has

13. The story was

(begin/begun) to understand the concept.
(send/sent) last week.
(swim/swum) across the river many times.
(tear/torn) the paper by accident.
(hide/hidden) under the bed.
(speak/spoken) at many conferences.
(eat/eaten) by the children.
(ride/ridden) their bicycles to school
(wear/worn) that dress several times.
(grow/grown) from a tiny seed.
(steal/stolen) several valuable items.
(break/broken) all previous records.
(tell/told) by my grandmother.
(choose/chosen) the best route for the trip.

(fall/fallen) down the stairs.




